Soluciones a los tests de junio de 2006

DERECHO CIVIL COMUNITARIO

[Modelo A |[ |[Modelo B || |[ModeloD |[ || ModeloF |
(1B e B JfLejfc 1] c|
(2l A Jffl2 c Jfi2 Al (L2 ] A]
(3 B Jf3lcf(3lfcl [ 3] c|
(4 B |4l Al [4allB] 4] 8]
150 B |5 A [5][Al 5] A]
(6 B |6 cf6][Al [ 6] B ]
L7 A flz B bz el L7 | B |
18l A Jfflef B Jlf8fBl [ 8]c]|
Lol c lfflof Bt oAl 9o]B]
(20| A JfJleoff ¢ |l fofc | [[10] C |
(] B Jffarff o Jf fa Al L | A
[12) ¢ | 2] ¢ || [22]| A |} [ 12 | B |
(13| B |l 13 B |l 23] B || [[138 | A |
(4] B |l a4 A |l 24 A |24 ] A |
(15| B Jf a5 c |l a5 A | |15 | A |
16| A Jf 6 B |l 6] A |16 | C |
117] B | a7 A Jf L7l c |l 17 | c |
(18| ¢ Jf a8 A |l 8] B || |18 | B |
(29 A Jlof ¢ | [1offc L1 A
(20 A |20 B || [20][ ¢ | [[20 || C |
(20 ¢ |21 B || [21][ B || [[21 || A |
122 A Jffl22) c |l (22 A [[22 ] c |
(23] ¢ || 23] B || [(23][ B || [ 238 || A |
24 A 24 A || [24][ c | |24 A |
125] B || 25| B || [25][ B || [ 25 || C |




